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B.A./B.Sc. (General) 4th Semester
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1047
MUSIC INSTRUMENTAL

(In All Mediums)
Paper : A (Theory)

Time; 3 Hours] [Max* Marks ; 45

English Medium

Note :- Attempt five questions in all, including Unit-Hi

which is compulsory and selecting at least one

question each from Unit-I & H

Unit-I

1. Write the Dugun, Tigun, and Chaugun of Jhaptal 9

2. Explain the origin and evolution of Tabla briefly. 9

3. Explain the playing techniques of Delhi Gharana, 9
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Unit-II

4. What do you understand by Karnataka Tai system ? 9

5. Write the Biography of Bhai Bahadur Singh, 9

6. Write Teental and Jhaptal in Pandit V. D, Paluskar

Tai notation system. 9

Unit-m

7. Write one Rela in Adachartal. 9

8. Attempt any nine : 9

(i) What is the sign of Khali ?

(a) + (b) 0

(c) A (d) x

(ii) What is the sign of Khali in V. D. Paluskar

system ?

(a) A (b) x

(c) + (d) 1

(iii) To write the Than of any Ta3 how many times

we have to write That Tai :

(a) 2 (b) i

(c) 0 (d) 4

(iv) Ektal consists of „„...'........ Matras.

(a) 2 (b) 12

(c) 13 (d) 10
.
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(v) Which Tal consists- of 10 Mataras ?

(a) Jhapta! (b) Teenial

(c) Roopakta! (cl) TeevrataJ

(vi) How many TIfkil at̂ e there in Ektal ?

(a) 2 (b) 4

(c) 5 (d) 4

(vii) How many Dhin comss leeiital ?

(a) 5 (b) 6

(c) 2 (d) 4

(vlii) Which Bo! comes on the Stfe Matra of

(a) NA (b) 'DHIN

(c) DM (d) TO

(ix) Sooltal consists of M**«.M.*»**«, Matra,

(a) 10 (b) 12

(c) 9 (d) 7

What Is flie sign of Sum ?

<a) A (b) X

(c) 0 (d) % 9
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(ii) eft. ^t. He|*<M "cTM S^fif 3 "^Icft c£T f^f

ifar % ?

A 00 x

(iii) "fe^ft *ft cflef ^ Blf

2

0 ft) 4

(iv) ^ cIM

(3?) 2 W 12

(^) 13 ft) 10

(v) 10 ^n^naft ^ft c^Hrfl "cn f̂ it?ft t ?

(vi) '^cfcflM c R Z dH "^R 3M?

(3T) 2 W 4

5 00 4
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(vii) o

(3T) 5 far) 6

0&) 2 00 4

(viii) SiHdKn ^ft MNoff

m

(a??) -^fi («r)

W * 00

(ix) ticiaw "̂  °° ..... ""** *im% ^f i

(3T) 10 far) 12

0*0 9 «) 7

(x) "HH cRT f^f ^T il?!T % ?

(3T) A W X

0

„ .~. o •i-ii ~ ur? 3"

fe&

2.
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3,

(»0 A (H) x

(H)

(3)

4, oMA'<!6fl H^ tftBt T 3Tft oft HM$% cJ ? 9

5, gr^t HcFOT fH^f tit 3t tfteMTO uftTB7^ fe& ! 9

6, :$<SB(M »f^ ^UB1̂  f Ufe ?t.A ^§Hdd H7^ VtBt

9

7, W 1̂" tJ'dd1^ f¥% fe"oT ̂ S7" feS"

8, ^
(1)

(»f) + (¥) 0

(H) A (tT) x

(2) ^t.sft.XI^Hrfd B1?? UTBt 1%^ W5t H1 f§?> oft

(no 2 (H) 1

(H) 0 (F) 4
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% (a) o (H)
x (fi) V (KO

i ^ j^ «IP <agj ia Htt (oi)
L {£) 6 (H)

II (B) 01 (KO

(5)

(H)

(fi) j2 (K«)

j, Q (Afi «iP (gP»QJ [fV .fr.PP.H Ql

01 (a) ei (H)
(B) Z Oct)

t^ (a) z (H)
9 (R) g (KO

CO
(a) s (H)
(B) £ (KO

^ ?fijfty fi^ ^^>°e '(9)
(a)
(B)


